
Grade 9 Math – Unit 3 Assignment-PRACTICE 

 

NAME: ________________________ 

Selected Response:  [10 Marks] 

1. Which of these rational numbers are equivalent? 

 

 A) 
−4

5
 ,

25

−20
 

 

 B) 
−4

5
 ,

−15

12
 

 

 C) 
5

4
 ,

25

−20
 

 

 D) 
25

−20
 ,

−15

12
 

 

2. Which values describe the positions of A and B? 

 

 A) −1.2, −0.3  

B) −1.4, −0.6 

C) −2.3, −1.2 

D) −2.6, −1.4 

 

3. Which is the fraction form of −1.3?  

 A) −1
3

10
   

 B) −1
3

5
 

 C) −1
3

1
 

 D) −1
3

100
 

37



4. What is   −
2

5
+ 0.6 ? 

 A) −
4

5
 

 B) −
2

10
 

 C) 
1

5
 

 D) 
4

5
 

 

5.  Evaluate: 0.84 × (−0.05) − (−2.3)          

 A) −2.342 

 B) −2.258 

 C) 2.258 

 D) 2.342 

 

6. Which group of numbers is in order from least to greatest? 

 

 A) −
3

4
, 1.3,1

2

5
, −0.6 

 B) −
3

4
, 1

2

5
, −0.6,1.3 

 C) −
3

4
, −0.6, 1.3, 1

2

5
 

 D) −0.6, −
3

4
, 1.3, 1

2

5
 

  

7. Solve:  
7

5
 ×  −

1

14
 

 A) −
1

5
 

 B) −
1

10
 

 C) 
1

10
 

 D) 
1

5
 



8. Which operation would be completed first:

 
 

   

8.6 14.6 5.3 19.4 8.6

2.9 6.3 9.5

       

   
 

 A)  -19.4 – 8.6 

 B) -2.9 × 6.3 

 C) -8.6 × 14.6 

 D) 14.6 – 5.3  

 

9. What is the product of −2.3 and − 4.5 

 A)  −10.35  

 B) −6.8 

 C) 2.2 

 D) 10.35  

 

10. Which expression is a rational number? 

 A) √3 

 B) √4 

 C) √5 

 D) √6 

 

Constructed Response: Show your workings  and reduce all answers to lowest terms for full 

marks. 

11. Using equivalent fractions, find 2 fractions between −
2

5
 and −

1

2
 . [2 marks] 

  

  



12. The product of two numbers is −
10

9
. If one of the numbers is 3, find the other  

 number.         [3 marks] 

 

 

 

 

 

 

 

 

13. Evaluate these expressions.  Show all necessary workings for full marks.  

           [8 marks] 

 A) 
−2

3
+

3

5
      B) 

4

5
− (−1

1

3
)    

 

 

 

 

 

 

C) 2
1

6
× (−

15

26
)     D) (−1

5

12
) ÷ (−2

1

6
) 

 

 

  



14. Evaluate each expression.       [7 marks] 

 

A) −
2

3
+

1

8
×

2

5
  B) 3.74 −1.25 × (−4.7)  C) 

2

3
 −  1

2

5
÷  −2

1

10
 

 

 

 

 

 

 

 

 

 

15. A student completed a test question as indicated.  Find and explain their mistake; 

then fix the solution.         [3 marks] 

 

 

 

 

 

 

 

 

 

 

 

 

  

1 2 4
                  

2 3 3

1 2 3
     Line A     

2 3 4

1 6
     Line B    

2 12

1 1
     Line C    

2 6

3 1
     Line D    

6 6

         

     
       

     

     
        

     

   
     

   

   
     

   

   
    

   

4 2
      

6 3
 



16. Solve:          [5marks] 

   

(−
2
3 +

1
4) × 1

3
5

1
4 −  (−

3
4)

2  


